
Hamnå Pizzaoven

6079-002









EXPLODED VIEW

 



 

 

A              M4x10mm      x4 B              M4x25mm     x4 C              M6x10mm      x1

1.Chimney cover  x1

2.Chimney Pipe x1

3.Oven body  x1

4.Pizza stone  x1

5.Door  x1

8.Pellet Firebox  x1

6.Bakery handle-1  x1

7.Bakery handle-2  x1

9.Top handle  x1



1.Open the 4 folding feet under the oven body (3)

2.Install the top handle (9)

M4x10  2pcs



3.Install the chimney pipe (2),

Assemble the chimney cover (1) on

 the chimney pipe(2)  

M4x25 4pcs

4.Insert the pizza stone(4)



M6x10  1pc

5.Assemble the bakelite handle-1 (6)to the door(5)

Align the hole above the door with the hook on the body and install the door

6.Assemble the bakelite handle-2 (7)to the pellet firebox (8)

Insert  the pellet firebox(8) to the body 

Step 6

M4x10  2pcs


